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Part A: Listening

Y. . . o
s/ Listen and mark your answers to questions 1-15 in the answer sheet. The audio will
be played only once.

S U Gy S i Caodle aolisewly 131, 15 U1 S5m0 Zowly g audd (igS CB3 L e b @

WKV U Spge.L )

1) What’s the problem of Jeanna?

a) She can’t get sick leave from her boss.

b) She’s worrying about her shape.

c) She hasn’t had meals and sleep for quite a while.

d) She is not fit.
2) What caused the occupational stress?

a) Being afraid of being laid off c) The huge workload

b) incapability of keeping awake d) instability of jobs
3) What’s the counselor’s suggestion?

a) To take some time off the work c) To have a break and get rest

b) To clear the working place d) To walk every now and then

4) What does the counselor suggest Jeanna to do with the boss?
a) ask the boss to arrange a more reasonable timetable
b) keep the boss informed of the project and result
c) provide the boss clues about time management
d) ignoring the boss
5) What does the counselor suggest Jeanna to do if she is afraid of getting fired?
a) actively pursue career opportunities c) take the necessary actions
b) don’t feel surprised d) don’t work anymore

6) What’s the percentage of people who think they work under pressure?

a) 40% b) 25% c) 14% d) 24%
7) What is the most basic aspect of survival in outer space?

a) gravity b) water C) space suit d) temperature
8) Without protection in space, the body of the astronauts will ............... .

a) float b) freeze c) burn d) explode




9) The temperature in space ranges from .......... degrees above to ......... degrees
below zero Fahrenheit.

a) 200 — 200 b) 300 — 300 c) 300 — 200 d) 200 - 300
10) Which part of the space suit is made of seven durable layers?

a) bladder b) helmet c) torso d) sack
11) What is the function of the most inner layers of the suit?

a) protection against radiation ¢) liquid cooling and ventilation

b) flexibility for movement d) insulation
12) The torso protects body against .............. .

a) pressure b) insulation c) radiation d) ventilation
13) Peer evaluation is .............. .

a) when the teacher evaluates the students

b) when the students find their own weaknesses

c¢) when the students’ evaluations are compared with that of their classmates

d) when the students check themselves in terms of pronunciation
14) Which of the followings is not the advantage of using one of the tutor’s lectures?

a) It is a real speech. c) It is easy to remember it.

b) It is a good model for listening skill. d) None of the above
15) What is not important about the sentences in the extract?

a) Number of sentences c) Length of sentences

b) Significant words/phrases d) the number of words in them

Part B: Grammar

»
L// Section 1. Read each test item carefully and answer the questions by choosing the
answer (a), (b), (c) or (d). Then mark the correct choice on your answer sheet.

16) What year did you ... university?
a) graduate by b) graduate from c) graduating d) graduating from

17) It seems to be getting worse. You had better ... a specialist.

a) consult b) consult to ¢) consult for d) consult by




18) I have trouble ... .
a) to remember my password c) to remembering my password

b) remember my password d) remembering my password

19) Do you have ... to do today? We could have a long lunch if not.

a) many work b) much work c) many works d) much works

20) The board meeting was held ... .
a) at Tuesday b) on Tuesday ¢) with Tuesday d) in Tuesday

21) Why don't you ... us?
a) go to the house party with C) go together the house party with
b) go the house party with d) together the house party with
22) That awful accident occurred ... .
a) before three weeks c) three weeks before
b) three weeks ago d) three weeks past
23) They didn't ... John when he explained his decision.
a) agree to b) agree with C) agree d) agree about
24) If you don't understand the text, don't hesitate ... a question.
a) ask b) asking c) to ask d) to asking
25) ""What happened to them yesterday? They look depressed."
"I don't think ... happened.™
a) nothing b) everything c) something d) anything

26) "It is not very cold. I don't think we need these big jackets."
"I don't think so, ... ."

a) anyway b) neither c) either d) too

27) "Bill is not doing well in class."
"You must ... that he is just a beginner at this level.™

a) keep minding b) keep to mind c) keep in mind d) keeping in mind

28) Our company didn't pay ... for that banner advertisement.

a) much funds b) many funds C) many money d) much money I




Y . .
L/ Section 2. Choose the underlined words or phrases that need to be corrected. Mark
the answers on your answer sheet.

29) With animals both humans, chewing helps relieve tension.
a b C d

30) The lady asked a man to carry the furniture to her house and put them in the hall.
a b C d
31) English teacher asked the student to write his composition again because there were so
a b C

many mistakes in it.

d
32) The store had just received a big shipment of new fall clothes for all occasional.
a b C d
33) If it is kept dry, a seed can still sprout up to forty years after their formation.
a b C d

34) In The Sociology of Science, now considered a classic, Robert Merton discusses cultural,
a

economy and social forces that contributed to the development of modern science.
b C d
35) Bacteria lived in the soil play a vital role in recycling the carbon and nitrogen needed
a b c d
by plants.

36) Some snakes have hollow teeth are called fangs that they use to poison their victims.
a b C d

37) Stars derive their energy from thermonuclear reactions that take place in their heat
a b c d

interiors.

38) Carrie Chapman Call organized the League of Women Votes after successfully
a b C

campaign for the constitutional amendment that gave women the right to vote.
d

39) Any group that conducting its meeting using parliamentary rules will encounter
a b
situations where prescribed procedures cannot be applied.
C d _—




40) The strongly patriotic character of Charles Sangster’s poetry is credited about greatly
a b C

furthering the cause of confederation in Canada.
d

Part C: Vocabulary

»
L// Read each test item carefully and answer the questions by choosing the answer (a),
(b), (c) or (d). Then mark the correct choice on your answer sheet.

Vocabulary Part 1: Gap-Filling

41) The lecturer ... our attention to a large screen at the back of the room.
a) drew b) pointed C) gave d) paid

42) ... | believe that banning smokers from public places is a very good idea.
a) Clearly b) Fortunately c) Justifiably d) Personally

43) We might be able to persuade more people to use the bus, but it is ... impossible to
stop people from driving cars together.
a) absolutely b) highly C) very d) a little

44) His father’s donation of funds for the public library was a ... act.
a) violent b) benevolent c) benign d) malignant

45) Today, the importance of learning a foreign language has risen. In fact, there is
more ... for speaking a second language.
a) reluctance b) conflict c) enthusiasm d) indifference

46) She has been a ... walker ever since she read about the benefits of exercise.
a) defective b) primary c) slow d) keen

47) No other animal is able to speak and think critically. These are ... human traits.
a) unique b) separable C) integrative d) instantaneous




Vocabulary Part 2: Synonym

48) 33) Soft dates are very fragile but they are also delectable to eat.
a) tasty b) savory C) spicy d) salty

49) At present, the world’s population is doubling every 37 years.
a) Customarily b) Universally c) Usually d) Currently

50) The Statue of Liberty was a technological feat designed by Fredric Bartholdi.
a) contrivance  b) achievement c) exploit d) demonstration

51) Some television programs are designed specifically for children.
a) distinctly  b) individually c) specially d) artistically

52) Since the work week consists of 40 hours, workers have ample time for recreation
and educational pursuits.

a) too much  b) hardly any c) nearly enough d) plenty of

53) Amongst some groups of monkeys, high rank does not necessarily entail highly
aggressive behavior.
a) secure b) involve c) aid d) contain

54) In the 18t century, Benjamin Franklin was a model of rational thinking.
a) logical b) systematic c) calm d) deliberate

55) New chemicals are not always tested to determine if they will cause cancer or genetic
mutations.
a) traits b) regularities c) implants d) alterations




Part D: Reading Comprehension

Y :
s/ Read the texts carefully and choose the best answer to the questions that follow.

Eﬂ Reading 1

Even a muddy pond contributes to the ecosystem that affects the
environment. A vernal or springtime pool is only a few feet deep and lasts only
from March until midsummer but yields a considerable number of diverse life
forms. Like all of nature, there are predators and victims, and a particular living
being may be one or the other, depending on its age and characteristics. One
may find masses of spotted salamander eggs floating just under the surface of
the pond, left behind by adults who entered the pond early in the season before
predators arrived. Other amphibians and reptiles return to the recurrent pond

year after year to reproduce, as their ancestors have done for years.

Various forms of algae grow well in the murky water, if there is
sufficient sunlight. They in turn produce and transmit oxygen to the salamander
embryos and other young that are not yet able to survive outside of water.
Diving beetles feast on eggs and larvae deposited in the pond by the
salamanders and other amphibians that have called it home. Tadpoles are born
in the late spring and feed on the algae. The pond also invites wood frogs
staking their territory and courting potential mates, calling as loud as quacking
ducks.

By the end of the short season, the pond dries to spongy mud and then dries
further, becoming covered with leaves and debris, until the following spring when

the process repeats itself.




56) The word vernal in line 2 means most nearly the same as ............ .
a) springtime b) pool c) deep d) transitory

57) What is the author’s purpose stated in the first sentence: Even a muddy pond contributes to
the ecosystem that affects the environment?
a) To explain that a vernal pool is very muddy
b) To describe how the vernal pool fits into the larger environmental picture
c) To explain that mud is important to the environment
d) To show how algae grows

58) The word “yields” in line 3 means most nearly the same as ........... .
a) produces b) contributes to c) kills d) harms

59) The word “diverse” in line 3 means most nearly the same as .......... .
a) distinct b) living C) numerous d) primitive

60) The word “its” in line 5 refers to ........... .
a) predator b) pond ¢) living being d) nature

61) Which sentence in the first paragraph indicates that a young life form might be prey to an

older life form?

a) A vernal or springtime pool is only a few feet deep and lasts only from March until midsummer
but yields a considerable number of diverse life forms.

b) Like all of nature, there are predators and victims, and a particular living being may be one or
the other, depending on its age and characteristics.

c¢) One may find masses of spotted salamander eggs floating just under the surface of the pond, left
behind by adults who entered the pond early in the season before predators arrived.

d) Other amphibians and reptiles return to the recurrent pond year after year to reproduce, as their
ancestors have done for years.

62) Which sentence in the first paragraph indicates that life forms continue to act in the same

way as the same life forms did previously?

a) A vernal or springtime pool is only a few feet deep and lasts only from March until midsummer
but yields a considerable number of diverse life forms.

b) Like all of nature, there are predators and victims, and a particular living being may be one or
the other, depending on its age and characteristics.

c¢) One may find masses of spotted salamander eggs floating just under the surface of the pond, left
behind by adults who entered the pond early in the season before predators arrived.

d) Other amphibians and reptiles return to the recurrent pond year after year to reproduce, as their
ancestors have done for years.

63) The word “murky” in line 10 means most nearly the same as ................ .
a) clear b) cloudy c) cold d) life-producing

64) The word “they” in line 11 refers to ................. .
a) salamander embryos  b) young c) forms of algae d) sunlight




65) Which of the following does the author imply in the first two sentences of paragraph two?
a) The life forms in the pool live in water their entire lives.
b) Some of the life forms live in water first and later on land.
c) The life forms found in the pool do not require oxygen to live.
d) Algae is strictly a food source.

66) The word “recurrent” in line 8 means most nearly the same as ....
a) moving b) recurring c) stagnant d) warm

Eﬂ Reading 2

Scientists have experimented with a new procedure for alleviating the
damage caused by strokes. Strokes are frequently caused by a blood clot lodging
in the tree of arteries in the head, choking the flow of blood. Some brain cells die
as a direct result of the stroke, but others also die over several hours because the
proteins spilling out of the first cells that die trigger a chemical chain reaction that

kills the neighboring cells.

The current method of reducing the amount of damage is to give a clot
dissolver, known as TPA, as soon as possible. But generally, TPA is not given to
the patient until he or she reaches the hospital, and it still does not immediately
stop the damage. The new technology, still in the research stage, involves chilling
the area or the entire patient. It is already known that when an organ is cooled,
damage is slowed. This is why sometimes a person who has fallen into an icy
pond is not significantly harmed after being warmed up again. The biggest issue
Is the method of cooling. It is not feasible to chill the head alone. Doctors have
chilled the entire body by wrapping the patient in cold materials, but extreme

shivering was a problem.

The new idea is to cool the patient from the inside out. Several companies
are studying the use of cold-tipped catheters, inserted into the artery in the groin
and threaded up to the inferior vena cava, which is a large vein that supplies blood
to the abdomen. The catheter is expected to cool the blood that flows over it, thus
allowing cooler blood to reach the area of the stroke damage.




It is not expected that the cooling will be substantial, but even a slight
decrease in temperature is thought to be helpful. In effect, the patient is given a
kind of forced hypothermia. And doctors believe it is important to keep the patient
awake so that they can converse with the patient in order to ascertain mental

condition.

Studies continue to determine the most effective and least damaging means

of cooling the patient in order to reduce this damage.

67) The word “alleviating” in paragraph 1 is closest in meaning to ............... .
a) reducing b) devastating C) causing d) increasing

68) According to the passage, the method of chilling from the inside out is being
considered for all of the following reasons except .................. .
a) it is not possible to chill the head alone
b) chilling from the inside out avoids shaking
c) cold dissolves blood clots
d) drugs are not helpful in stopping the chain reaction

69) According to the passage, what causes a stroke?...
a) A blood clot sticking in an area of the brain
b) Low blood flow
c) Hot blood
d) A patient choking on food

70) The word “shivering” in paragraph 2 is closest in meaning to ................. .
a) shaking b) delirious c) sick d) dying

71) According to the passage, all of the following are true except that .............. .
a) some cells die immediately when a person has a stroke, and others die later
b) cells die only as a direct result of the stroke
c) the protein from dead cells Kills other cells
d) TPA is effective in removing blood clots

72) What is the passage mainly about?
a) Causes and effects of strokes
b) New pharmaceutical methods for reducing stroke damage that are being researched
c) A new method of cooling the body to reduce stroke damage that is being researched
d) The dangers of cooling the body

73) The word “substantial ” in paragraph 4 is closest in meaning to .................. .
a) considerable b) slight ¢) unsubstantiated d) effective




74) In the passage, the author implies that ...................
a) the internal chilling process has not been proven yet
b) drug therapy properly addresses all the problems of stroke victims.
¢) chilling the head alone is viable
d) nothing is likely to reduce the chain reaction problem
75) The author describes a person falling into cold water in order to .................. .
a) evoke sympathy
b) show that cooling a body does not necessarily harm it
c) show how one who falls into cold water could also benefit from the internal chilling
research
d) describe the warming process

76) The author implies that ...............
a) the catheter is moved all the way to the brain
b) the artery in the leg connects directly to the brain
c) the artery in the leg connects to the vena cava
d) the goal is to chill the brain directly with the catheter

77) When the author states that the catheter is threaded to the vena cava, the author
means that .........cc.ceeenee

a) the catheter is sewn to the vena cava

b) the catheter is inserted into the body at the vena cava area

c) the catheter becomes attached to the vena cava because of the cold

d) the doctor moves the catheter slowly through the artery to the vena cava

78) The author implies that hypothermia is caused by ................... .
a) the body becoming cold c) a stroke
b) the body becoming warm d) drugs

79) According to the passage, doctors prefer to keep the patient awake in order to
a) monltor vital signs with equipment
b) watch the patient
c) talk to the patient
d) find out if the procedure is painful

80) The word “it” in paragraph 3 refers to .........cccocvvuenenn
a) vena cava b) veins C) catheter d) artery

THIS IS THE END OF THE TEST.
Good Luck

v




